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A:If f1s cont. at ¢ and g 1s cont. at f(c), then g(f(x)) 1s cont. at g(f(c)).
Qe B 2

Aﬁﬁ@ﬁﬁﬁ@ﬁ@%ﬂﬁ@@ B R - T
Qiglﬁ**ﬁj E R )R]

ArTSERERIPYRIBERT ~ 2. ﬁ?@ﬁ’?‘yﬁ@ﬁuéﬁ o

Qi PSS B o2

AN FOFRROHERL £ 75 FrBle o DURBE RTRLR RRTES > (P kL o 20 e
PRSI R USRI T - 70 e 1) 2 S ET R -

e.g Show that f(x)= +)3

r:f: Eﬁﬂv £ [p Pg'\zi/ FEH? E#Tat on B ]
”3’:}? B — [ﬁ B = x>0+ DIc-8) »/ t
F Fl IEJ7J fklg_m%jﬂjirfjl PP r:t %:’J &S HI /E’J[‘ﬁﬁ_{;@ o (or F[”,:Ty x>8)

1S cont. on x>8.
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FIIB]Y tis cont. on t50. > B ETED>0 > FIF] 50 sk o
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xX2+1

(x-8)3

1s defined on x #8.

1S cont. on X # &.

>0 on x>8 andy/ t is cont. on t>0.

1S cont. on x>8.

e.g. Show that f(x)= 5_\/+—1 1s cont. everywhere except at x # 3.
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"X'+161s cont. on R

"X'+161s cont. on R and 4/ tis cont. on t>0 f(R)>0
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..Vx2 4+ 16 is cont. on R.

=5-Vx2% + 16 is cont. on R.
BB EEIR A > 532 T 45 0 - I 2 15 0 U
5-Vx2 + 16=0=>x"+16=25=x"=9=>x=13

" xiscont.onRand 5 —+Vx2+ 16#0 on x#13

X

" 5—Vx2+16

Def:

Let f [a,b]—=R be a function, f is cont. at a, if im(x—a")f(x)=f(a)
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Let f [a,b]—R be a function, f 1s cont. at b, if im(x—b)f(x)=1f(b)
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By the way x—a’ [ {fj= " [ L

Thm: f 1s cont. at ¢ © lim(h—0)f(c+h)=f(c)

pf:f 1s cont. at ¢ ©lim(x—c)f(x)=f(c)
“Let x=c+h” ,then x—=ceh—0 it (@gids F‘@ﬁ?ﬁ‘fﬁ HEL
f1s cont. at ¢ ©lim(h—0)f(c+h)=f(c)

Thm:

B o BEIARE S PES) lim(h—>0)fc+h)=f() IR

Suppose that f 1s cont. at c.If f(c)>0, then 3 6 >0 s.t. {(x)>0 on (c- 6 ,c+ 0 )
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=V x in (c- 0 ,c+ 0) ,f(x)>0)
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"fiscont. atc. . .lim(x—c)f(x)=f(c)
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Let € =f(c)/2, then 3 6 >0, s.t. V x in O<Ix-cl< O , If(x)-f(c)l<f(c)/2

=>1(x)E(f(c)/2,31(c)/2)

PREE f(0)>0 > Bl =14 f(x) - T Swi- f(x)/2

Qu AF S = gk £(0>0 - T PRIRBA I | 7 A A0 RIPITRG I
PR f(0)>0 =135 H 0 H#EHIx-cl>0

By the way~[i'I') BB ] » = 1) RSy 3= f(e)/2<x<31(0)/2

Ex:P88(35.37.52.53.54.55)

e i

Show that f(X)=(x"2+2x) M /3+H4x+51/(x2-2x+1) 1s cont. everywhere except

at x=1.
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2.5 Pmchmg theorems (F F<tZEn Tngonometnc theorems (= F[FFHRITFVHAE)

§ 2.5 The Pinching theorems and Trigonometric functions.

Thm:

Let f(x)>g(x) on O<Ix-cl<a.If im(x—=c)f(x)=L and lim(x—c)g(x)=M,

then [L>M.|[ #5+4 fl—~ A5 o
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Thm:

(The Pinching thm. )& 5=y

Suppose that h(x)<f(x)<g(x) on O<Ix-c I<a.

If im(x—c)h(X)=lim(x—c)gL,then lim(x—¢c)f(x)=L
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